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Your team wants to practice a drill for a certain
amount of time each day. Which plan will give
your team more total practice time over 4

days? Over 8 days’? Explaln your reasoning.
] 5 J ’7 5/

Plan1: § mlnutes to gy, QEhen 1 mlnute
more each day that the previous day

Plan 2: 1 minute today and then twice as
much time each day as the previous day.
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Identify the initial amount  and the growth factor b in each exponential ‘4 / \

function. \/40\ 29>( }y>)
m f)=3-5 ) h(x)=5-1.02
Toivial (o) 7 Totial (a)2 95
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Find the balance in each account after the given period.

;2000() {',0573/
2000(1.0g¢)"
2000 (9.2391%54364)
X168 268
£ 2965, 2
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Identify the initial amount g and the decay factor b in each exponential
function. ' o O < {& < !

'M\v:at-n_zx T tinl (o)=Y
coth ()Y - 0,2

Tell whether the equation represents exponential growth, exponential decay, or
neither. @/W{:L‘ R >< LO\K {0 }{ (/J/l_/—te/\ C§ an

or Ug (ony €K ponent

§)J5:2-3‘ Qf{ﬂ:ﬁ'ﬂ-? 7>f(x):5-f Z);u:/ﬂ_sr
b= 3 p-o 5 Netles  Lroz
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ODThe town manager reports that incoming revenues for a given vear were
$2 mallion. The budget director predicts that revenues will mcrease by 4%
per vear. How much revenue will the town have available 10 years from the
date of the town manager’s report 1f the equation that models the growth 15

£(x) = 2,000,000 - (1.04)? G- 0 09g 0C o

fO) s ()7 b= loy = o?%

,  X= ] ©
£(5)= 2,009,000(1.07)
£(x): J&w@goo (19503 yy279)
ciy< 2180986 67
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Tell whether each represents an exponential growth function, an exponential
decay _funciion, or neither.
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Ticket out the door: Write equation and solve.

A family buys a car for $20,000. The value of
the car decreases about 20% each year. After
6 years, the family decides to sell the car. How
much is the car worth after 6 years?

(Hint: 20% decrease means the car is keeping
80% value. So 1-.20 = .80.)

Equation: y = $20,000(0.80)"



